FERE28EE/ NV FHESE ()

HHE 4 HA Ei = 5
6/14 () BIHES&REE
7/7(XK) BIHEEEE

ExcelBE%k 8/25(K) HERS
11/17(K) =& E=E
1/13(&) BIHES&REE

% 10/6 (K)ExcelB$HHE (A E15) (X, BIEZZEELMV:=LET,
(BEMHICDZFELTIX,. OTTERNL=LET )

HHE 4 HA Ei £ 15

ExcolVBA 7/21(K) BIHESKREE
10/20(K) HHESEEE

HHE 4 HA Ei £ 15
6/30(K) BHESKREE

AccessE i 8/24(7K) HMERIS
9/21(7K) BIHESKREE

HHE 4 HA Ei = 15

Accessit 11/8 () ~9(K) HMESREE

HHE 4 HA Ei = 172-

PowerPoint 9/8(K) HRSE

X HBPHED BHRE, FHERBFIC OV TIIHIHRR—LR—UICTIEALTEYET,
X HUHERIME B OFISERATICFRAERIEEFVLET,




